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Student: name/funiber:
a)  Usethe tablesof Stardard Tntegraliito figds -
[t dt .
J't2+25 & \ 2002
‘ . b} Theroals of amoriic: polynomla Pxyof degree 3 are:2; -2 and 1“ Find an; TRIALHIGHER SCHO‘ L CERIIHCATE
equatiofi of the-polynomial L
o) Differenitiate o Sl o ' 3
d) @)
Solve the equation: 289 = §in20+ for:0 € 6.4 I )
UESTION, [6tse giart anew pape): .
a) Iy x-3afactorof- ¥ 54127 Glven felsonforyour S )
B Solve. Lalsr | R f | @
: Iy Pl ‘ 5
) Solvetheequation +Feos@—sinG=+3; 002 )
dj X¥is adiameterofa circle X7Z Thetangents at Xand Z tickt at Qi The fines ‘ i P T
OF andiX ¥ dfe produced to medtat Ry o ‘ . Total malk_s- (84)
o Altempt Questions 17
(D this didgrani Ohto yoUr angwershiset) _ , o » Allguestionsareolegualvalues.
S “Greneraldnstructions .
+: Reading tities -~ Sunitinres: -
. ,W(')rkjng time«-2:hotrs
o Wiriter ugiiig blue ot Black pen
e Board-dp sved galeulators
. : !5‘::
s Al necesmry orklng shouldibe
() Prove £ ZXQ=90°— £ YIR . @) stiowrt thvevery question -
(i) Hence; orotherwise, prove that  £XQZ = 2./YZR 23
Please note tiat thisis a Trial paper phly(mé? cannot in any wap gual'gntee the-format or the content of the
Higher School Gertifieate Bxamiinition,
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e QUESTIONS (Pleise startatiew page)
UESTIONA CONTINUED: )

by a) i) Prove that azootolitlicequation=#Gx +.1.=0 lies:betweeri =2 and
=3 48]
ii): By takirg:a fitst approximationxi =246 use one -applicalivn ol Newton’s
niethiod tofinida bétrer approxitidtion of the root, (3)
$\= b) . Thieeboysand five girlg-are:at a bifthday party.
1)- [he childrenare asked to forma queisdo, u;iﬂst,t some-food. In How many
y afi theqy o {1
NG Py -ag®y o
\ (603
(2
o). Forthe expansion =(4+50)1% e T
i) Show:thatthe equation of the taiigent at @ s 43 = ay? @) i) Sho i:oftlie cdeﬂ?men’cs of consecutive: Ierm's‘f-m&-?*‘“ is
i) Findatliecoordintes of the-points- R 1) : oo
ordinates 6f 5 are (~a Zazf) @ G @
Dk R ) ‘ i) Determiﬁ_gswhieh:p “ofitermis hidsiequal eoefficients: ¢3)
€)
& ULSTION:A: - (Pledse start 4 newpage)
a)
- Showithat: T + @t (where Cand Fre constanits) satisfies Newton's:
Law of Céoling. 1
i) The 1cmp ratiireiof thetooniis 20°C Whilst the eovling room lemperature is
=52, Howloitg willittake for theéide of lanibito reackift teezing point {0°)
ifitdiops fo 10" i3 houars? @
: . s P P P i - ; Estension | Trial HSC Exam ' page 2
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QUESTION7 (Please start anew page) JUESTION 5 (Please start a neiy page)

a). Theangle of elevation of a mobile phone tower MT of height £ metres-at a point a)" Prove:by induction thatfora positive ﬁljteggr ’
A 5 45%: Fromiransthér point B; the: bearinig:of thie mohile: phonc tower L T Ay
i5:061°T4nd the dnglevfelevation is:30° The points 4 and B are 20 inetres - WAp+ D
apare ‘
Caledlateto Q.,gigniﬁi;am.,iiggteg thie bisight of the tewer 637 A particle is mgvingsiita-straight line with Simpletatinonic- Motion. The
' o . Yeloeity of the pamcle is tespectively /20 msand 4ms " at distioes of 1
M; metre and 2 melies:ftom.the centee of moton: Fitid the:period aﬁd anplitude-of
i tite motion; [l
“)
(Please StarTaiow pagey
g a)  Aspherigal hot dirsballaonis heated: ERBES expdndmg atthg fateof
[ . Oidincites per seconde At what rate will i vehiie bt increasing when the .
i radiiig s 34 mstres? 3y
b Anarrow fired from ground Jevel at-velocity 40 misec; strikes the ground 80 : ‘
meties away:
Detive the equations of motierand hence find the anglesat-which the-arrow ' By
wagbefired: (Assime g =10nysscy _ @) !
1
an odd function ay
i) “Pigcussthe beha_v upofthe coiveag x~5d- ‘ @)
v} Show that () »:0" at all'values of % for which the function is defined. @
v)" Henceyorotherwisedsketech: y=1x): 3y
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